28.9 < A straight wire carries
a 10.0-A current (Fig. E28.9).
ABCD is arectangle with point p~ 1-10-mm 4 14.0cm B

Figure E2&.9

$—————~ *
. . segment
in the middle of a 1.10-mm seg- £ ' 15.00 cm
. . [ ——I*J i 3]
ment of the wire and point C D C
—

in the wire. Find the magnitude
and direction of the magnetic
field due to this segment at (a) point A; (b) point B; (c) pomt C.
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28.23 » Two long, straight, parallel Figure £23.23

wires, 10.0 cm apart, carry equal 4.00-A 7 ®1
currents in the same direction, as sl}own 100 em —>]

in Fig. E28.23. Find the magnitude

and direction of the magnetic field at

() point P;, midway between the wires; (b) point P, 25.0 cm to the
right of Pl (¢) point P3, 20.0 cm directly above Pl
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10.0A

28 25 : Four Iong, parallel power lines each carry 100-A cur-
Tents. A cross-sectional diagram of these lines is a square, 20.0 cm
On each side. For each of the three cases shown in Fig. E28.25,
Calculate the magnetic field at the center of the square.

Figure 26,25
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28.27 °° Two very long insu- Figure =24.%7
lated wires perpendicular to

each other in the same plane 'T12A
carry currents as shown in

Fig. E28.27. Find the magni- Qe 515 cm | 10 A
tude of the ner magnetic field 8.0 :: gg)) :
these wires produce at points P om . - O
and Q if the 10.0-A current is o
(a) to the right or (b) to the left. mm%op




